Efficiency vs P,

= 0.4
o
2 0.09
>
20.08
o
0.07
0.06
0.05
0.04
0.03
0.02
0.01

e

1.0

Ratio

o

©

a
N

=
o

—a— DVIVITITREIT_TTOTT I|ld|

—e— DOM”m F|t:TTOr|§|na-106

—— DOM™mKEIt"TTN HEM ALLITER -10?
—— DOQM”mKEIt_TTNEWHSMS50_ALLITERS-106
—— DOM—mkKFIt_TTNEWHSMS100 ALLITERS-106

=0.05
[
§.045
2
$0.04
[S]
$.035
o
0.03
0.025
0.02
0.015
0.0
0.005

........

Vs

Ratio

o
©
C

o
Qe
: v .
E....i....i...|....|....i....
i I
532 -1 2

Efficiency vs ¢

0.02[ - T T T
1+ | : p

¥R IR { B S

[LH [

T T % p

0.004F} T WU AU B O O
0.002F {1+ T
_g*-UG_!" I I I I I
= k : : . : !
< k : : . : !
o : : : ! . K
il - - - - - e - -
0951 : . ; i d
-3 -2 -1 0 1 2 3




	Contents
	Page 1


